
 

Exam 1 Wednesday IN CLASS
If you're sick STAY HOLE email me at

dave.h.jensen gmail.com do not use

Canvas

Exam Format
50 minutes

6 multiple choice
2 short answers SHOW YOUR Work

Calculators Ok

What's on the Exam

Elementary Functions
liner far quadratic fns co position and inverses

graphing

Exponentials
definition properties graph

Logarithms
definition properties graph

Sequences
exponential recursive sequences

init of sequences
definition how to find limits of recursive



1
g g g
graphs in these coordinates
translating between log coordinates and

standard coordinates

Semilog Plots
Graph a fr y fat

where the vertical

axis is Y logly
It the graph of a function in a senilog

plot is a line then the function is

an exponential function
The graph of y a b in a semilog plot
is a line w septet and y intercept

logCa

Y loglyl log a bx

log a log GX

logCaltlogCbl X

Ex Consider the function y lo ooo

a Let Y log ly and unite
as a function of X



b Graph this function on a se i log plot

a y L as to
6 1000

Y log lo t log tooo X

It 3 X

inb

Coil
C x

EI A double log plot is where you graph

a function there the vertical axis
is Y logly and the horizontal
axis is X lag x

If the graph of a function on a

double log plot is a line then that
function is a power function yea x



Specifically the graph of y a x on

a double leg plot is a line with

slope m and y intercept log a

Y a x

Y loglyl logCa xm

logCa t log xm

log a t m log x

log calf m X

Et Suppose I give you this double log
plot

a Write Y as a fr in terms of X
b Write y as a fr in terms of X
c Graph y as a fr in terms of x

I

compost y intercept 4 and

slope Ie x

Y 4 X



b We want to turn this into a power
function of the form

y a Xm

y intercept 4 log a

10000 104 1010941 a

slope m t

4 10,000 X
K

d

C

Limits of Sequences

EI Consider the recursive sequence

anti g
90 0

Find Jim
he a

99



First find the fixed points
Plug in at an anti

as
1

Solve for a

alati 6
a 9 6

a a 6 0 QE.az

IYiIa1ITIT 2

I
1E

a 3,2 Fixed points

anti off 90 0

90 0

a 6

at E E
as EI 3



These numbers are all positive so they
can't be approaching 3
So his an 2

Al tenapproach plus in calves closeto
the fixed points
For a 2 plug in 2.001

anti EI 1.999334

Closer to 2 so this is a locally

stable fixedpl
For a 3 Plog i 3.004

anti
3 5 2.99850 n

Further from 3 so this is a locally

unstable fixed point

EI ant atty a 3

90 3

91 341 3



az 3

Sequence is 3 3 3 3

Limit is 3


